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; 100kN/M%#B% % — -~ = —|3mEEZB| — ~ — — — | 100kN/m%Z#8 %% — - ~ — —|3mZEBZ B - ~ — — —
Lt 1.00 | 000 ~ 7056 89.55 | =hs | 0oo ~ 705|176 9.44 znLs 1.00 | 5.00 ~ 882 89.55 | #nLst | 6.00 ~ 882|176 9.44
2 100kN/M%Z#8 % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mEF#Z D - ~ — — —
ZznLst 1.00 1 000 ~ 625 78.54 | =S | 000 ~ 625]1.79 9.59 znLs 1.00 | 5.00 ~ 7.30 78.64 | TS | 5,00 ~ 730|179 9.569
P 100kN/m%Z#BZ5 | 1.00 | 000 ~ 238| 137.25 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1090 ~ 2403 137.25 |3mZEiBZ5 -~ — — —
Lt 1.00 | 238 ~ 1017 100.00 | FhLs | 000 ~ 1017] 25656 13.67 znLs 1.00 | 5.00 ~ 10.90 100.00 | ThRS | 5,00 ~ 24.03 | 2.556 13.67
4 100kN/m%#B25| 1.00| 000 ~ 1.47| 12242 |3mEBZZ| — ~ — — — | 100kN/mM%E# B2 5 | 1.00 | 10564 ~ 1553 | 122.42 |3mEkEZD - ~ — — —
Lt 1.00 | 1.47 ~ 9.26 100.00 | =0t | 000 ~ 926 2.35 12.57 znLs 1.00 | 65.00 ~ 10.54 100.00 | ThRSY | 6,00 ~ 1553|235 12.57
5 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#2Z% — - ~ — —|3mZF#BZ B - ~ — — —
ZznLst 1.00 | 0.00 ~ b6.65 70.65 | =R | 0.00 ~ 565 2.00 10.72 znLs 1.00 | 5.00 ~ 7.19 70.65 | ThRS | 6,00 ~ 719|200 10.72
g 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3mEF#BZ D - ~ — — —
ZznLst 1.00 1 000 ~ 4.74 59.04 | =hS 000 ~ 474|179 9.60 znLs 1.00 | 5.00 ~ 5.00 59.04 | =nst | 5.00 ~ 5.00)|1.79 9.60
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ZnLst 1.00 | 0.00 ~ 324 41.35 | =hUS | 000 ~ 324|227 1213 znLs 1.00 | 5.00 ~ 5.00 41.35 | #nS | 5.00 ~ 500|227 12,13
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ZnLst 1.00 1000 ~ 477 59.48 | ThUs | 000 ~ 477 1.74 9.33 znLs 1.00 | 5.00 ~ 5.00 59.48 | =nbst | 5,00 ~ 5.00)|1.74 9.33
9 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZF#BZ D - ~ — — —
ZnLst 1.00 | 0.00 ~ b56.84 7312 | =S | 000 ~ 584 1.73 9.28 znLs 1.00 |1 6.00 ~ 6.57 73.12 | ThUS | 6,00 ~ 657|173 9.28
10 100kN/mM%#8 % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3mZF#BZ B - ~ — — —
ZznLst 1.00 1 000 ~ 5675 71.94 | =S | 000 ~ 0.00)] 1.69 9.06 znLs 1.00 | 5.00 ~ 6.46 71.94 | ThS | 6,00 ~ 6.46 | 1.69 9.06
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Lt 1.00 1 000 ~ 623 7823 | =S | 000 ~ 623]1.85 9.88 znLs 1.00 | 5.00 ~ 7.39 7823 | TnRS | 6,00 ~ 739|185 9.88
19 100kN/M%#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#Z% — - ~ — —|3mZF#BZ B - ~ — — —
ZrnLst 1.00 | 0.00 ~ 6.50 81.94 | =hS | 000 ~ 650 1.80 9.61 znLs 1.00 | .00 ~ 7.76 81.94 | #nbst |5.00 ~ 7.76 | 1.80 9.61
13 100kN/m#E#BZ % — -~ — —|3mZE#EZE| — ~ — — — | 100kN/m#%#B %% — - ~ — — |3mEEZD -~ — — —
Lo 1.00 | 0.00 ~ 4.75 59.16 | =h4st | 0oo ~ 000\ 1.67 8.94 znLs 1.00 | 5.00 ~ 5.00 59.16 | =nbs | 5.00 ~ 5.00)| 1.67 8.94
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